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Maths

.1 -5 , -1 , 3, 7 ……………AP 
(a)16     (b)  20 

         (c)  19      (d)17  

.2 n  
 (a)𝑎 + (𝑛 −)𝑑  (b) 2𝑎 + (𝑛 − 1)𝑑
(c)  𝑎 + (𝑛 − 2)𝑑       𝑎 + (2𝑛 − 1)𝑑    (d)    

.3 3
(a)28  (b)  30
(c) 24  (d)25

.4 𝑎௡ =n2-2  𝑎ହ 

(a)27  (b)  20 
−23    (c)     (d)23 

.5 a = 2 d=5   
(a) 2, 7 , 12 (b) 2 , 3 , 7  

   (c)5 , 7 , 12           (d)7, 12 , 19  

.6 𝑆௡=5n2-2  
(a) 3      (b) 15 
 (c) 10  (d)18 

.7 3𝑥 + 2𝑘𝑦 − 4 = 0  6𝑥 + 4𝑦 + 9 = 0K   
(a)4  (b)2   

 (c)1  (d)3

.8 2𝑥 + 3𝑦 + 4 = 0 4𝑥 + 6𝑦 + 8 = 0       

  (a)  (b)   

(c)    (d)

.92𝑥 + 𝑦 = 10   𝑥 − 𝑦 = 15   𝑥 y   
(a)( 5 , 2 )    (b) (-5 , 0)   
 (c) (5 , 0 ) (d)(4 , 2) 



 

.10
ୟభ

ୟమ
≠

ୠభ

ୠమ
    

(a)     (b) 

 (c)  (d)  

11 2𝑥 + 4𝑦 = 10 𝑥 = 2y 

 (a)  
ଵସ

ସ
     (b) 

଻

ଶ
 

(c)    2 3ൗ      (d)  3 2ൗ   

12   
 (a)𝑎𝑥ଶ + 𝑏𝑥 + 𝑐 = 0 (b)𝑎𝑥ଶ + 𝑏𝑥 + 𝑐 

(c) 𝑏𝑥 + 𝑐 = 0(d)𝑎𝑥 + 𝑐 = 0   

132𝑥ଶ + 5𝑥 − 7 = 0

 (a)   (b) 

(c)    (d) 

142𝑥ଶ − 9𝑥 + 4 = 0∆

 (a) 42(b) 113       
      (c) 49  (d) 59 

15  𝑏ଶ − 4𝑎𝑐 > 0        

 (a)(b)  

      (c)  (d)  

162𝑥ଶ + 𝐾𝑥 + 3 = 0K

 (a)4√6  (b)  ±2√6   
      (c)  √6  (d)  −2√6 

17 
଻

ସ
= 𝑆𝑖𝑛𝜃  = 𝑐𝑜𝑠𝑒𝑐 𝜃  

 (a)  
଻

ସ
(b) 

ସ

଻
       

      (c)  
଻

ଶ
   (d)   2 7ൗ 

18 Sin𝜃     

 (a)  5 3ൗ(b) 
ସ

ଷ
       

      (c)  
ଷ

ସ
   (d)   

ଷ

ହ
 



 

192 𝑆𝑖𝑛 𝜃 = √3𝜃 

 (a)  60 ଴(b)45 ଴       50√3

      (c) 0 ଴   (d)   60଴ 

20𝑥        
 (a) 50 𝑚(b)60 𝑚        

      (c)  70 𝑚    (d)  40 𝑚 

21𝑥        
 (a)   30଴(b) 60଴       

      (c) 45 ଴   (d)   70଴      

22tan 2A =cot (A-18) 2AA 
 (a)  56 ଴(b)32 ଴       

      (c) 36 ଴   (d)  40 ଴ 

23(8 , -7) (8 , 3) 
 (a) 12 𝑈𝑛𝑖𝑡 (b)10 𝑈𝑛𝑖𝑡        

      (c) 16 𝑈𝑛𝑖𝑡    (d)  9 𝑢𝑛𝑖𝑡  

24 ( 7 ,8 ) (3 , 6) 
 (a) (7 ,5)(b)(4 , 7)       

      (c)  (5,7)   (d)  (7 ,4) 

25(3 , 1) (0 , 𝑥) 5𝑥 
 (a) 5(b)3       

      (c) 4   (d)  2 

26( -6 , 8) 
 (a) 9𝑈𝑛𝑖𝑡 (b)10 𝑈𝑛𝑖𝑡        

      (c) 12 𝑈𝑛𝑖𝑡    (d)  8 𝑈𝑛𝑖𝑡  

27

 (a) +2 = 3(b)+3= 2  

      (c) +3 2= 2  (d)  - =3    

28𝑥, 7,4,6108x 
 (a) 10(b)12       

      (c) 13   (d)  14 

2930 , 20 , 50 , 40 , 60 10 , 30 
 (a) 5(b)10       

      (c) 6   (d)  4

 



 

30

 (a) (b)       

      (c)   (d)   

31ABC DEF B  60 ଴ ==  A   45 ଴= F   
 (a)75 ଴(b)    90 ଴  

      (c) 65 ଴  (d)  60 ଴ 

32=AC  
 (a) 12(b)13.5       

      (c) 12.5   (d)  13 

33
 (a) 5 , 11 , 12 (b) 5 , 10 , 13        

      (c)  5 , 12 , 13    (d)  5 , 13 , 14  

34APBP5=AP =BP 

 (a) 5 𝑐𝑚 (b)5√2𝑐𝑚           
      (c)  5√3𝑐𝑚    (d)   5.2𝑐𝑚  

35  AOP50଴ ==  APO     
 (a) 30଴(b)40଴       

      (c) 60଴   (d)  90଴ 

36
 (a)  2𝜋𝑟(𝑟 + ℎ)(b) 2𝜋𝑟ℎ       

      (c)  2𝜋(𝑟 + ℎ)   (d)   𝜋𝑟(𝑟 + ℎ) 

37

 (a) (b)       

      (c)   (d)   

38hl‘r’

 (a)  κ = √ℎଶ + 𝑟ଶ(b) ℎ = √ κଶ + 𝑟ଶ       
      (c)  κ = √ℎଶ − 𝑟ଶ   (d)   ℎ = √κଶ − 𝑟ଶ 

39714
(a)  539𝑐𝑚ଶ (b)148𝑐𝑚ଷ       

      (c) 539𝑐𝑚ଷ   (d)  148𝑐𝑚ଶ 

40840
 (a)  420𝑐𝑚ଶ(b)800𝑐𝑚ଶ       

      (c) 400𝑐𝑚ଶ   (d)  820𝑐𝑚ଶ 
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ANSWER KEY 

1 – C 2 –A 3–B 4 –D 5 – A 6 – B 7 –  C 8 –C 9 -C 10 –A 

11 –C 12 – A 13 –B 14 – C 15 –A 16-B 17 - B 18 - D 19 - A 20- B 

21 - A 22 - C 23 – B  24 - C 25 - A 26 - B 27 - A 28 - C 29 - A 30 - D 

31 - A 32 - B 33 – C  34 - A 35 - B 36 - A 37 – C  38 - A 39 - C 40 - A 

 


